MTH1W Unit 2 Stations

Station A

1. Write the simplified expression represented by the tiles. (shaded is negative)

LIx =3

2 No-ny &
Draw 2 different sets of tiles that represent 2x°=5x+3, ¥ answer
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3. Simplify each expression by collecting like terms.
) 5x +(-3)+(-3x)—(-4)
= 5x -3 -2x+4
= 2X + |
b) 5x%+1-3x+4x> —Tx -4
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= Ox*-g|0x -3



MTH1W Unit 2 Stations

Station B

1. Simplify
(3x2 —2x+7)—(5x2 —3x-4)

a)  (4m’-7m+3)+(2m’ -3m-1) b)
= Ym-Fms3 42n*3me )2 352 9049 -5k 3%+ Y
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Simplify FIRST, then evaluate for k=-3.
(k+3)—(2K* -3k +4) - (3k* =1) +(5k -3)

- K+3 2K%+2k -4 -3k%) +5k -3
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= =K% 4+ 9% =3 wmg
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- -5(q) ~2F -3

2.

s =UYB=2F-3
3. The length of a rectangle is 3 less than twice the width. Determine a simplified
expression for the perimeter of the rectangle.
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MTH1W Unit 2 Stations

Station C
1. Simplify.
a) (Xe)(xa) b) % 0 (XS)Z Q) (x—s)zng)
= oy ] r o 2z
- x = X - ﬂ‘ e _ﬁx_b_
&
o = X
2. Simplify.
a) (5X3y—2)(—2xsyl> b) ;2);53/ 0 ( 4x5y‘3)2
— " T * i b
3. Simplify.
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MTH1W Unit 2 Stations

1.

a)

d)

Station D
Simplify.
5(3x—4) b) —2x(7x+1) c)
2
= |5%=20 it b b QA

2x (3y - 4xy2)—3(3xy —7x2y2)

= bxy-8xY =9xy +21x%y°
= \3‘x297'—3><ﬂ

Solve
(4, (5)
3x—2=10 0 =2
AX= 10+2 X: -0
3x =12
5 A
X =4

3a’b (Sab —2ab’ )

=15a3b*~ ba* b

9 5-3k=-4
=3k==4~5
“3k= -1
3 3



MTH1W Unit 2 Stations

Station E
1. Solve.
a)  3x-4+7x-1=3-4x b)  3(2x-5)=4x+2(x-6)
3x + Ix44x = 3+Y+) L =15 & Yx42x 14
Hx = % by -4y-2x = —(2 415
R Oox = 3
X= 5 2. no solut{on

o 3(w-4)-2(5-2w)=-4(1-w)—(3w+5)
Bw-12-P+Yw = ~Y44quw -2w-5

3w YW 4w +3w T -Y-5+12+10
GU\) = \i
— =
- 13
2 - ) 2@ ) 5 0R)
(5) (12
d) (%)5_2'532_ Z()(ég) e)(%% - Xgl)_ _ %/x
LCO=15 2 7 :
o~ F5T BRI 1§ x ~2(2x-) = 24 - 9%
5x-6x = o+ 35 1§%x — Yn +2 = Zt_qux
- = €5 |gx-4x +Ax T L4 &
] L3x =25
X=-85 23 25
2.

SR’
2. Show a FORMAL CHECK to determine whether or n a solution to the equation
below. (**no marks for solving....just the check. Don't solve...do a check!!!l)

/? 7-3(2x-1)=4(3-2%)+6
(s LS
" F—3(2%x-\) g (2-2x) b
_ 3 -3(2(w)-)) = 4 (3-2e)) +©
= 3-3(¢-1) :‘7‘(3’8)*?
= =3CF) =g (-5) ¥°©
:;)__.2\ = =20 ¥ &
= =14 = — 1Y

T ES=RS, X= L‘f



MTH1W Unit 2 Stations

Station F
Create and solve using an algebraic model.
(let statements, equation, solution, concluding statement)

1. One number is 5 less than twice the other number. The sum of the numbers is 22. Find
the numbers.

Led x represend the £irst nu\m‘b.w ;
Lﬁ“’ Z*-5 \’g@‘(t’&("rv\ “+he SGC(‘/Y\C\/& HLUV\J‘U .

X +2x-5=22 ) x5
X“"ZX ’:?1 \'S :2((1)_3
3x =2% = =5
= = =13
X=9

TL»@ V\\;\w\\o-crj ore q eci~ch \-3

2. The length of a rectangle is 3 more than the width. The perimeter is 34cm. Find the
dimensions of the rectangle.

Wt WHWw+3 4+ W+ w+ 3T 3L1
" w L’)\/U = 3%"3’3

b3 Hw = 28

H Y
1§ o A wt3
VT %3
= 10

L The rcﬁcwtar\chf s dem ‘o‘\.j 1Ocm.
3.

Liron has 72 coins made of up quarters (25 cents each) and nickels (5 cents each). The
total value of the coins is $14.20. How many of each type of coin does Liron have?

Lé‘\" 0[/ reP(r’&(’r\Jr ‘\’LQ + o\ U\Cu’{'frs.
Let ?Fl-cl re\o‘ewﬁ Mo ¥ 4t r\\(\cels.

| ) T2-a
ZSCT( 1— 5(:}2‘@)—‘ |4920 = 32-53
26q +360-5q = 1420 =19
ZSCL"S% - [4720 -360
- 1060
20q = 108
5{ = 25 3

1

¢« Liron Yhas /S5quavjr€rs ardl 19 nickels.



MTH1W Unit 2 Stations

1.

a)

c)

2,

a)

and how much yellow do you need to make 250 mL of the green paint? ‘Hfﬁl‘: +
Le¥ b rtp(f.&tar\{%\o cwm ot ol bu-e [m_l_) .
Leb g rept estnd Yo aimound bQ \{«a\|0w(‘“‘—)
| : S5 b low ¢ 2 Y
blie R - gyellow © =& 2
Torol ?‘\250 Toted ¥ 250
250(5) = 500 =y
> L = -
j250 = 1250 . (., SO0 | f el
q_ L(’_nu /‘lf\e&:\ ne eCQ —i ‘V\L c_}\) bLV‘e (l.“d __j ﬂ’\L C(\“‘ /C
b) Jesse used 42L of gas to drive 750 km. How far can he drive with 55L of gas?
Letd % repeesent  dhe distance (ker
L@Oﬁ 2 %, j‘55
<Mn ’_’,SO x
. =3 ®) v R o
Yix = ‘i‘,z,f_, . desse com
2 - ) .
s dvive ABZEM

Station G
Solve. x %
ol
2:7i£(§)/:24 b) b:7:'17:4012;-
¥ & + =740
Zx =30 p = 149
X =35 40
2:4:x=9:y:20
2 & A L g X
'Z]'§<L§ 20
29 :36 q)(‘: Ho

y=13 X=q

Solve each of the following by creating an algebraic model and solving.
(let statements, equation, solve, concluding statement)

y b

The ratio of yellow to blue for a particular shade of green paint is 2:5. How much blue

?——
x< 982



